Instructions for Completing Retest Assignment

1. You have been given the correct answers; however, you should go through and answer the
questions as though you do not in order to see which items you need help with during
tutoring.

2. You must write 1-2 sentences per question explaining why the answer is what it is. This
must be done on your own paper.

3. You should come to tutoring to ask questions about any of the questions you do not
understand. Attending tutoring is not required, but strongly encouraged.

4. This assignment is due on the day of the retest and must be completed before you will be
allowed to take the retest.

5. Retest date is in room from
2:30-3:30pm.

Questions | have and need to ask about:
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Name:

Which equation represents a double replacement
reaction?

A. 2 Na+2 H;O—- 2 NaOH +H,

B. CaCO; - CaO + CO,

C. LiOH+HCI - LiCl +H,0

D. CHs+2 O3 - CO;+2 H,0

Given the reaction:

Mg(s) + 2AgNO3(aq) — Mg(NO3)2(aq) + 2Ag(s)

Which type of reaction is represented?

A. single replacement B. double replacement

C. synthesis D. decomposition

Which process represents a chemical change?

A. melting of ice
B. corrosion of copper
C. evaporation of water

D. crystallization of sugar
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Given the balanced equation representing a
reaction:

4A1(s) + 30,2(g) = 2A1,05(s)
Which type of chemical reaction is represented by

this equation?

A. double replacement B. single replacement

C. substitution D. synthesis

Which equation represents a decomposition
reaction?

CaCO3(s) = CaO(s) + COz(g)
Cu(s) + 2AgNO3(aq) — 2Ag(s) + Cu(NO3)2(aq)

2Hz(g) + O2(g) — 2H20(¢)

c O w p»

KOH(aq) + HCl(aq) — KCl(aq) + H,O(¢)

In which type of reaction do two or more
substances combine to produce a single substance?

A. synthesis B. decomposition

C. single replacement D. double replacement




Given the bajy

nced equatiop
. S re
chemicy] reacti

presenting two

ons:
Cla +2NaBr o Ny + Br,
2NaCl — 2Na+C12
Which types of chemi '
mical reactiong :
by these €quations? T fepresented
A. single replacement and decomposition
B. single replacement and double replacement
C. synthesis and decomposition
D.

synthesis and double replacement

8.  Given the word equation:

sodium chlorate — sodium chloride + oxygen

Which type of chemical reaction is represented by
this equation?

A. double replacement B. single replacement

C. decomposition D. synthesis

9.  Which 1s an example of a chemical reaction?

A. nails rusting B. glass melting

C. sugar dissolving D. alcohol vaporizing
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10. C3Hg + 0y — CO; + H,0

1.

12.

This chemical €quation represents the combustjon

of propane. When correctly balanced, the
coefficient for water is

A 2. B. 4. C. 8 D. 16.

Hydrazine, NHy, and dinitrogen tetroxide. N>Qq,
react to form gaseous nitrogen and water. Which

of these represents a properly balanced equation
for this reaction?

A. NH4 + N;,04 — N> + H>,0
B. 2N,H4 + N,O,; — 2N> + 4H50
C. 2N,H; + N20O4 — 3N, + 4H-0

D. 2N>H4 + 3N-,04 — SN2 4+ 6H-0

— NH3(g) + ___01(g) -
— Na(g)+ ___H,0(g)

When the reaction above is completely balanced,
the coefficient for NH3; will be

A. 2. B. 3. C. 4. D. 6.
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14,

135.

2Zn(s) + 4HCl(aq) — Zn2Cly(aq) + Hj(g)

A
B
C. equals the mass of the reactants.
D

IS not related to the mass of the reactants.

An unbalanced chemical €quation is shown below.

Pb(NO3), + K2CrO4 —

PbCl‘04 + KNO3
Which coefficients are needed to balance this
equation?
A. 2,4,4 6 B. 2,44 3
G L1192 D. 1,66 2

page 3

16. What products are formed when the metal
potassium is added to water?

A. K and H,0 B. KOH and H;0

C. K70 and H, D. KOH and H,

17. When Na,0 reacts with H,O, what is produced?

A. HNa0O, B. Na+H,0

C. NaO +H, D. NaOH

18.  Consider this incomplete chemical €quation;

Ba + CUClz —3

What are the products of this equation?

A. BaCl, and CuCl, B. BaCuCl, and Bj

C. BaCl, and Cu D. BaCu and Cl,

19. Which pair of substances wil] likely undergo a
single replacement reaction?

A. Na and BaCl, B. Zn and BaCl,

C. Ca and BaCl, D. K and Ba(Cl,
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20. What is the oni
net ionic equation fo '
r the rea : : .
between aqueous solutions of LiBr and ,:gli;g:? 2. Which action demonstrates a chemical change?

A. Ag*(aq)+ Br(ag) — AgBr(s) Long hair is cut and dried.
A wooden pencil 18 sharpened and breaks.

B. Li*(aq) + NO;3 (aq) — LiNOs(s)

A.
B.
; C. An ice cube melts and becomes a clear liquid.
C. Li*(aq) + Br™(aq) — LiBr(s) 3
D.

An iron nail becomes Orange and flaky on the
surface.

e B ——r
—

D. Ag'(aq) + NOj(aq) = AgNO;(s)

—— e

73. When methane (CHy) 18 burned in the presence of
oxygen (O2), the twWo chemicals react together in a

| process called combustion.

71, When aluminum and sulfur react, which compound

' duced?
1y s Which of these compounds could be a possible
product of this combustion reaction?

A. AlLS: B. AlS, C. AlS, D. AlS
A. NH; B. SO C. H,0 D. C5

- e — e ————————————
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